Exemplar Problems
Determinants

Solution:

Given,

Ix —x+y —-x+:z
x-=y dy z-y
X=—z y-z 3z
[Applying €, = C, + G, + ]

x+y+z -x+y -x+2
=lx+y+z 3y Z2-y

X+y+z y-2z 3z

[Taking (x + y + z) common from column C]
I =x+y —-x+:z
=(x+y+2))l 3y zZ=y
1" y-2 3z
[Applying R, = R, - R, and R; - R, - R,]
I —x+y —-x+z
=(x+y+2)0 2y+x x-y
0 x-z 2z+x

[Applying C; —» C, - (]
l —x+y -x+2z

=(x+y+2)0 3y X=y
0 -3z 2z+«x

[Expanding along first column]




=(x+y+2). 1[3y(3z + x) + (3z)(x - y)]
= (x+y+2z)(3yz + 3yx + 3xz)

=3(xX+y+2)(xy +yz+2zx)

N




